Addition Paques (B)

Obtenez un lapin pour chaque réponse correcte. Lapin Obtenu:

16 137 89 83
+ 64 +7 + 133 + 193
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Addition Paques (B) Réponses

Obtenez un lapin pour chaque réponse correcte. Lapin Obtenu: /25
16 137 89 83 55
+ 64 + 7 + 133 + 193 + 88
80 144 222 276 143
N L ¥ L ¥ L ¥ .
19 112 173 89 169
+ 169 + 175 +57 +61 + 159
188 287 230 150 328
\ Y \ Y \ Y \ Y \ Y
111 101 87 86 42
+ 152 +73 +95 + 145 +139
263 174 182 231 181
Y Y Y \ ¥ \ Y
85 74 167 7 123
+ 197 + 19 + 166 + 151 + 18
282 93 333 158 141
. L ¥ L ¥ L ¥ .
5 90 182 13 39
+0 + 123 + 59 + 65 + 103
5 213 241 78 142
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